2 AT RE U B

(2x* + 5)(5x—2) — % +3x— 1

(2x + 3)(5x — 6)(6x — 6)

3x— (3—2x)(6x— 4)(5x— 2)

(33 + dx — 4)(5x — 2) + 2 x Sx + 3

Ix+2-=5x)(x+3)3Bx—2)

o
=

H #A:

(4)c2+2)(x+4)+x2 —5x—1

(bx+ 6)(x+5)(x+ 1)

(3x — 4)(5x% + 4x + 3) + (3x + 3)(6x + 5)

(6x + 4)(4x* + 6x+ 3) — (4x + 4)(5x — 5)

(4x + 6)(3x% — 5x+ 4) + (4x — 2)(5x + 4)
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B & 5 i IR TR

44 H #H: L
(2% +5)(5x—2) =% +3x— 1 (4> + 2)(x +4) + % — 55— 1
10x° — 5x% +28x — 11 43 + 172 = 3x+ 7
(2x+ 3)(5x — 6)(6x — 6) (6x+ 6)(x+5)(x+ 1)
60x° — 42x° — 126x + 108 6x° + 42x° + 66x + 30
3x— (3 —2x)(6x—4)(5x— 2) Bx— 4)(5x2 +4x+ 3)+ (3x + 3)(6x + 5)
60x° — 154x” + 115x — 24 15x° + 10x% +26x+ 3
(3x% + 4x — 4)(5x— 2) + 2 x 5x+ 3 (6x + 4)(4x” + 6x + 3) — (4x + 4)(5x — 5)
15x° + 14x% — 18x + 11 24> + 32%% + 2x+ 32
Ix+2-=5x)(x+3)3Bx—2) (4x + 6)(3x2 —5x+4)+ (4x—2)(5x+ 4)
—15x° = 29%% + 47x— 12 12x° + 18x2 — 8x + 16
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